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1. FHURRHE M TS R R R T
(a) K31 (Array)

(b) Ak (Stack)

(©) 1751 (Queue)

@ DIERE

2 MY A R AGIERE 121 » A64) BYMLEZE 159 £ » A A5
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3. FHURIHFRABIHERE (time complexity) » AT FRIRFRIBA?
(a) O(loglogn®)(b)O(nlogn) (c) O(logn’)(d) O(n*?)

4. THIREE P AHH A AE RERRRTIZ A AR B AAEE R
(a) PASCAL (b) FORTRAN (c) COBOL (d) C

ST BITRERR
10 READ A$, B, C
20 READ DEF
30 DATA COMPUTER, 34,23
40 DATA 1234,45,23
50 PRINT D
(a) Ellit 34 (b) ENH 45 () FILH 1234 (d) BN 23

6.0 R R T BT R
(a) TRAGMES
(b) HEE
(c) M
(d) AL

7. PESHE ii(Internal Sort) TG TRFMHRRAY 14582
(a)Selection Sort(b) Insertion Sort (c) Heap Sort (d) Quick Sort

8. FHUG— B B H ST G HAHERE (short-term scheduling)?
(a) HAAHRHS (first-come-first-served).
(b) EFFEE (round-robin scheduling).
(c) MG TLAFAS (shortest-job-first).
(@) BAEgT
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9. EE&(AlgmﬂM)ﬁﬁEﬁBﬁﬁ‘ﬁqﬂ TIHAEFCEERN? ) B
i (b) HiRH (Fini (c) BAREME (Defini ) (d) EREE

(Correcmess)

10. T L FI4ERIE (The Dining Philosophers Problem) B7EsgH5
(a) WHIEHES
(b) R AR
() MERRMTTRELIEE
@ ATERER

= - M (50%)

1. (15%)Give the postfix of the following arithmetic expression.
(2) (bHe)*5+(15*m+2)/7+6  (5%)

(b) Convert the expression ((at+b)-c*(d+e)y+H/(g+h*i) to a
(1) prefix expression. (5%)
(2) postfix expression (5%)

2. (15%) A&FAHRR(Terminology Explanation):
(a) Virtual Devices
(b) Cache Memory
(c) Handshaking

3. (10%) F_ICHIRFFEHER HIBFGDECA » fiAFiB#tmS HBIAFDGCE &
ML T T -

4. (10%) FRRIER(deadlock)f BB A A AI{EI R 1HFEAS?




